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PART—I / wmm—I
CHILD DEVELOPMENT AND PEDAGOGY /. are fresra oiR forarn-wra

Directions : Answer the following questions
by selecting the most appropriate option.

1.

In the progressive model of

gducation as implemented by CBSE,

socialization of children is done in

such a way so as to expect them to

(1) give up time-consuming social
habits and learn how to score
good grades

(2) be an active participant in the
group work and learn social
skills

(3) prepare themselves to conform
to the rules and regulations of
society without questioning

(4) accept what they are offered by
the school irrespective of their
social background

Which of the following is based on

Vygotsky’s sociocultural theory?

(1) Operant.conditioning

(2) Reciprocal teaching

(3) Culture-neutral cognltlve devel-
opment

(4) Insight learning

A teacher says to her class, “As
individual assignments ‘are designed
to help individual students learn
more effectively, all students should
complete assignments’ prescribed

-without any assistance.” She is

referring to which of the followlng
stages of Kohlberg s moral
development?- - :

(1) Conventional stage 4
—law and order
(2) Post-conventiorial stage 5
—social contract
(3) Pre- conventional .stage 1
_ ——pumshment avoidance
(4) Pre-conventional stage 2
—individualism and exchange
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Fourteen-year-old Devika is
attempting to develop a sense of),
herself as a'separate, self-governing
individual. She is developing

(1) hatred for rules
(2) autonomy
(3) teenage arrogance

(4) maturity

In context of progressive education,
which of the following statements is
true according to John Dewey?

(1) There should not be a place for
democracy in a classroom

(2) Students should be able to solve
social problems themselves

(3) Curiosity does:not belong to the
inherent nature of students
rather it is to be cultivated

(4) Students should be observed
- and not heard in the classroom

6. A disorder rela_tédw' to language

comprehension is

(1) apraxia

(2) dyslexia g

(3) aispeechxia

' (4) ” .aphasia

Following are the critical views

about the ‘Theory ~ of Multiple
Intelligences’, except

(1) it is not research-based

(2) different intelligences demand
different methods for different
students. _

(3) gifted students usually excel in.
a single domain = . .

(4) it lacks of empirical support

4.

14-affa e s ® g,
wivafia safe h e ) Fefa 50 &
g & @ B 9g TR s @ 2

(1) Tt % uf gom

(2), R

(3) TroiaeTT® e
(4) ufge@ )

. wfasfier fen & wedf-d fafefas § @

HI-TT HUF 1 S . SR Tfaa 27

(1) &0 | YT o Hi§ W AL B
U

(2) Pt ® =@ @ wafe grensi
F g W B ARy

(3) fommm faenfiat & w=rma # srafifea
@ ¥ oftg swe o dads s
=i e

(4) e & frenfil @ Frleor 2o ey
1 T gan =i

- Srae & Wy R

(1) <<@m™Ed (apraxia)

(2) wE-3%e (dyslexia)

(3) aﬁi-mfm (aspeechxia)

(4) wTEEE (aphasial).

, Fafafes 4 @ 9w eirdeETeES

gwm  ‘wg-gf& f&er<’  (Theory of

Multiple Intelligences) ¥ @wg i 27
(1) =% Murenta & 2

(2) fafim gfat fm-fm frfhi % for
faform TRt ) Wi e &

(3) wiowrameht frneff wa: @ o3 & @
ey fof¥ear weftfa #d &

(4) TEE B GTW Iy Tl R

[ PT.O.



10.

1-L

Theory of Multiple = Intelligences’
cannot be -legitimized as it

(1) is not possible to - measure

different intelligences as there

are no specific tests

(2) does not place equal importance
on all seven intelligences

(3) is based only on sound
empirical studies done by
Abraham Maslow throughout
his life

(4) is not compatible with general
intelligence ‘g’, which is most
important ‘

The individual differences of
students in a classroom are

teachers
a diverse

(1) disadvantageous as
need to control
classroom

(2) detrimental as they lead to
student-student conflicts

(3) inexpedient as they reduce the
speed of the curriculum

transaction to the level of the

slowest student

(4) advantageous as they lead
teacher to explore a wider pool
of cognitive structures

School-based assessment

introduced -to

(1) decentralize the power of Boards
of school education in
country

was

(2) ensure th'e holistic development

of all the students

(3) motivate teachers to punctili-
ously record all the activities of

students for better interpreta--

tion of the1r progress

@ encourage schools to excel by
competing with “the other
schools in their.area

the-

10'

wg-3fg fgm ® qu T owm W
Hmwﬁﬁs

(1) faRm whemil % s § fm gl
(different intelligences) & T
TevE T R

(2) T8 wft wa gheat A aum wew &
AR

(3) T8 Fawt wEH WA & SfEH- R F
YqG STFIATCR A T IR R

(4) e waifoeh wEeE aWe gfE g %
TS (gaa) e

e o frenffn & e favg

(1) s 4 -}, FifE sreamewt
et war w b F@ H
3MEvIHAT 8

(2) ThERE.8, wifE 8 fenff 4
YR 5 391 2 &

@) e &, Wik ¥ weifts #=

frrreff & W wew uEsTEEl *
TAMTROT ) 71T ! 9 o 8

(4) ol §, FifE 3 RenfbE f
gyATHE WA R @S §
AR H WIT A 8

ferrea-sranfta e ey fomar T O
aifs '

) Ty ¥ fraverht fien @ (Boards)
% T1TeR 1 frhegliamor foRan st ok
(2) @ft el & apl fFm =

ﬁﬁ%m%mmuﬁs '

(3) TR $ safi € Jam =wen ¥
fog R ol wfefaftemt & fafia
AGT g TEATTHI aﬁ st
o s w

(4) Torrem smoa &=t A e o fafim
et f . gemn & wiefar g
LA faRmar w1 owEE w3
afifm &t g% .



11.

12.

(1) Could you group your _:

Which one of the following is not

related to other options?

(1) Organizing
sessions

question-answer

(2) Taking feedback from students
on a topic

(3) Conducting quiz

(4) Modeling the
self-assessment - -

skills of

Which one of the following questions
is correctly matched with its
specified domain?

Evaluating

students on the basis of

their
Mathematics?

(2)

What was the turning
point

. < frT
achievement in

: Creating

in the cricket

match telecasted last
night?

(3)

(4)

13.
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Write down a new
recipe to cook chicken
by using herbs.

: Application

Determine which of the
given measures would
most likely lead to
achieve best results.

: Analyzing
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(3) Compare

Which of the following is the most
effective way to convey students
from disadvantaged sections that
you expect them to participate and
succeed?

(1) Articulate your confidence in

their ability to succeed
(2) De\}‘elop your own‘interest in the
topics to be taught
them with
children _as

other

~ their goal -

' (4) Emphasize the point that you

have high expectation of them

frequently as.
poss1b1e to make them realize’

13. fi=fifiag d @ F-d wa@ifte wwasd
Bt 8 wedt ®, S aueh 3@ eriEn W @
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14.

15.

16.

17.

1-L

Following are the
developmental disorder, except
(1) autism

(2) cerebral palsy

(3) post-traumatic stress

(4) attention deficit hyperactivity
disorder

Multiple pedagogical techniques,
assorted learning material, multiple
assessment techniques and varying
the complexity and nature of the
content are associated with which of
the following?

(1) Universal design for learning
(2) Remedial teaching

(3) Differentiated instruction

(4) Reciprocal teaching '

Which of the following is true about
gifted learners?

(1) They make everyone else
smarter and are essential for
. collaborative learning

(2) They always lead others and
. assume extra responsibility in
the classroom

(3) They may achieve lower grades
due to their heightened
sensitivity

(4) Their importance is primarily
due to their brainpower

Inclusion in schools

focuses on

primarily

(1) making subtle provisions for
special category children

(2) fulfilling the needs of children
with disabilities only

(3) meeting the need of the disabled
child at the expense of entire
class ’ _

(4) including the educational needs
of illiterate parents in schools

examples of |
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15.
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(1) anenfis (Autism)
(2) wmferss am@ (Cerebral palsy)

(3) W-3firEmas @99 (Post-traumatic
stress)

(4) =g s@ue GfFa fxer (Attention
deficit hyperactivity disorder)

gfm-vrelm qede, afiga e
urfl, Fg-AEeE wEe aul aiEd-
wieerar wg w1 ey feifafaa @ |
e wrag 37

(1) wrasiifies stftpm wred
(2) SUTRIEHS ey

(3) frifa srgem

(4) urEaiE R

frafofaa & @ sfomoreft sfmmswtet

for = wgfem @7

(1) & ot A off gyt wEE € qe
geanht aiftrm % fog srawes

(2) 2 T = W g wQ@ § A W
# arfafeen SweERies T80 FQ &

(3) ATt TEEaly GdeATHEA % HRT A
ot frea oft o1 v

(4) ghurdh dR @ = afeeda o F
FRO B 37H 9T B

forameat it gEETE g HEE B R

(1) Bt R a@ ==t ¥ R
gefoges yEgEt & i w

(2) ¥aw i sol f smewEwaet @
ool FE W

(3) et wEn f Hiwg v Feifa w=t h
HEAREHA H T A T

(4) Premaat ¥ frer aifinmast & s
ATEIFaT 9T -



518, -

19.

20.

1-L

(1) working

‘The cause of learned helplessness in

children is their

(1) acquired behaviour that they
will not succeed

(2) callous  attitude
classroom activities

towards
(3) non-compliance with expecta-
tions of their parents

(4) moral decision for not taking up
studies seriously

If a student is consistently getting
lower grades in school, her parents
can be advised to help her by

in close association
with teachers

(2) withholding mobile phones,
movies, comics and extra time
for play

(3) narrating her the hardships of
life for those who do not possess

proper education

(4) . forcing her to work harder at
home

Which of the following -does not

deter problem solving?

(1) Insight

(2) Mental sets.

(3) Entrenchment

(4) Fixation

18. =i ° dielt T fugEd &1 w1 2

19,

20.
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21.

22.

23.

24.

A teacher is connecting a text to the

previously learnt text and showing

children how to summarize it. She is

(1) helping children to develop their
own strategy to comprehend it

(2) insinuating that there is no
need to go through the entire
text

(3) reinforcing the importance of
text from the assessment point
of view

(4) encouraging children to mug it
up as effectively as possible

What kind of errors is common
between a learner who is learning
his mother tongue and the learner
who learns the same language as a
second language?

(1) Overgeneralization

(2) Simplification

(3) Developmental

(4) Hypercorrection

The stress affects performance in
examinations. This fact reflects
which of the following relationships?
(1) Cognition-Emotion

(2) Stress-Omission

(3) Performance-Anxiety

(4) Cognition-Competition

A teacher is trying to counsel a
child who is not performing well
after an accident. Which one of the
following is most appropriate about
counseling in schools?

(1) It is about the palliative
measures for making people
comfortable

(2) It builds self-confidence of
people by letting them explore
their own thoughts

(3) It is about giving the best
possible advice .to students
about their future career
options

{4) It can be done only by the
professional experts

21.
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24.
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25.

26.

27.

1-L

Which of the following would

encourage the least a student who |
wants to become a hlghly creative |

theater artist?

(1) Try to win the State level
competition that will ensure you

scholarship
(2) Develop empathetic, amicable
and supportive relationships

with your peer theater artists

(3) Devote your
theatrical skills that you find
most enjoyable

(4) Read about the'pprformainces of
the world’s best theater artists
and try to learn

Which of the following theorists
would be of the opinion that
students study hard for their
personal growth and development?

(1) Bandura
(2) Maslow
(3) Skinner
(4) Piaget

Which of the following factors

supports learning in a classroom?

(1) Increasing the number of tests
to motivate children to learn

(2) Supporting the autonomy of

children by the teachers

(3) Sticking to one particular
method of instruction to
maintain uniformity

(4) Increasing the time interval of
periods from 40 . minutes to
50 minutes

time to those |

25. wF foemeff Tl gemsfer e

26.

27.

HATHR S Jrgal 81 39 oy fraferRaa
A A I G HH I g

(1) e gfemfient w1 S @
| YRR T AT BT Ut A wsh

(2) I TN FAHR WOEER K oAy
wargafrgel, V& @ gl weey
ol o

(3) I Tmelg wivrelt @ 3TRs FET <

(4) GER ¥ 98 T weneri 6 ek
A gag uifeey ved & foe awn 3=
dra % yama & fo e

T4 4 HA-u fUgaer 98 W Wy
? 6 = ot gfy @ fem 3g e
AT FA &7

(1) @
2) ﬂwh
(3) &
(4) T
fFrefie & § FF-T1 @@ Fa1 § aifrm
Y FTEF & T a7

(1) =t % 1w g e =R F foo
qheqort € G FI TG A

(2) axwmaﬁmﬁa—na*wﬁwaﬂmaﬁ
SQrET F TERIET T

(3) TuFEl ST @A F R fRd w
AR Igfd W ek T

(4) wew N @l w40 e @
50 oz % a1 &

[ P.T.O.



28.

29,

30.

Mature students

(1) believe that emotion has no

place in their studies

(2) resolve easily all their conflicts
with their intellect

(3) sometimes need emotional
support in their studies

(4) do not get upset by studies in
difficult situations '

A child coming to pre-school for the |

first time cries profusely. After two
years when the same child goes to
the primary school for the first time,
he does not express his tension by
crying rather his shoulder and neck
muscles become tense. This change
in his behaviour can be explained on
the basis of which of the following
principles?

(1) Development proceeds in a
sequential manner

(2) Development is gradual

(3) Development is different in

different people

(4) Development is characterized by
differentiation and integration

Which of the folloﬁng statements is |

true?

(1) Genetic makeup impacts respon-
siveness of an individual to
qualities of the environment

(2) Adoptive children possess same
IQs as their adoptive siblings

(3) Experience does not influence
brain development

(4) Intelligence remains unaffected
by the schooling

10
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(4) wfer offedfaat & W seEm @
forafea 7 2

gd-frene 8§ wgell R 3N & g €9
o fagman 21 @ o uw g I=1 W@
yfers e | geell IR ST R, @
U qe fage =re ad & efug
3% 99 9 WA §) M @ I ] IoF
T RIS qiadd w1 Fn A ER
8 "o 87

(1) FerE #ies JoR A B @
(2) fom freada S e 3

(3) srem-srem wrt ® foeerm off i w9
| g @

@) e g hew faem & s €

frafafiga 4 @ FA-0 wuw gou B7

(1) gl ga@e Afw a%’t; gfEw 6
TorErT % N, SRl B g
et B

(2) e fore U a= @ @t ghyg-oEuiE
(1Q) &ar B, = e e w3
TEET HTE-FgA BT g R

(3) gva Afwss & fawmm &1 warfaa
T

(4) ﬁamﬁmwg% W HE I9E
TE gEen



PART-~II / «tmi—I1
MATHEMATICS / wfir

directions : Answer the following questions
y selecting the most appropriate option.

31.

32.

33.

The perimeter of a square is 20 cm.
A rectangle has the same width as
the square. The length of the
rectangle is double its width. The
area, in square cm, of the rectangle
is

(1) 30 (2) 50

(3) 100 4) 25

The internal length, breadth and
height of a rectangular "box A are
20 cm, 18 cm and 15 cm respec-
tively and that of ‘box B are 18 cm,
12 cm and 5 cm respectively. The
volume of box A is how , many times
that of box B?

(1) 4 (2) S

3) 6 (4) -3

Which of the following is not
correct?

(1) Area of a square of side 10 cm
= Area of a rectangle of length
10 cm and breadth 01 m

{2) 1 metre S5 centimetre
= 1:5 metre

(3) 0-40 is same as 04
(4} Rupee % = Rupee 073

fAder . ffafaa wedt & 3w A F fow w=a
3R fawew gy

31.

32.

330

et @t o uftama 20 ot B ©s ena
H N @ Fi At SeR F a3
wraTg SEhl, e B g 31w W
‘%m, aﬁ,atﬁjﬁ;(.%

(1) 30 (2) 50

(3) 100 4 25

fell sngarer 9 A ) ariafes @,
R o F=r§ waw: 20 Wf, 18 A
3 15 A &, aur s B A 18 I,
12 aft iy 5 dft &1 RO A @1 STEEA
T B % A 1 A1 T R7

(1) 4 @ s

(3)..6 @) 3

g & @ Pa-wr o 7 27

(1) 10 5111 @raréaﬁ B QA%
= 10 4t ovemg 3R 03 Ht =i
A HEAQ AR

(2) 1 " 5§t = 1-5 fix
(3) 0-40 M 0-4qwm #

(4) 2% = 075 T

SPACE FOR ROUGH WORK / & &d & i -

11

[ P.T.O.



34.

35.

36.

One orange costs five and half
rupees and one kg apple costs ¥ 80.
Then the total cost of one and half
dozen of oranges and one and
three-fourth kg of apples is

(1) €219 (2) €229

(3) ¥ 239 4) € 209

NCF, 2005 states that Mathematics
teaching should be ambitious,
coherent and important. Here,
‘ambitious’ refers to achievement of

(1) narrow goals of Mathematics

(2) linking of Mathematics with
other subjects

(3) application of Mathematics
(4) higher goals of Mathematics

In Class II, concept of even number
and odd number was introduced by
activity of pairing the given number
with concrete objects. Then teacher
asked the students to check
(i) whether the total number of
crayons in their colour boxes is even
in number or odd in number,
(ii) whether the number of pages in
their Maths notebook is odd or even.

This task of finding even or odd
number of crayons/pages is
(1) assessment for learning

(2) assessment as learning

(3) assessment at the end of

learning

(4) assessment of learning

34.

35.

36.

UF R F YT Gl U A qAM TH
forelluT @9 w1 TR 80 TN R, @ =%
ol gt a uw I dFi-<hu e
Q9 =l Fel T 2

(1) 219 (2) ¢ 229

(3) ¢ 239 4) ¥ 209

¥tE ursa=El I wRE, 2005 § 98 3g@
e mn @ & R g g,
gama 3R wewgul w1 =ifRul a@Ei
‘e’ @ arcd Frefafaa @ R
Iyt 87

(1) TRra % gt weat (vet) B

(2) "ira = o fwat @ g R

(3) it % srgoEnT
(4) it & =1 3eEAt (Feat) €

@ 11 4 a9 "wew s R wen &
eheuT 1 IR I (TeEE) SEgett @ @
T e ¥ WY gew & eaewa ga
fan ) 3o uvarg Rifier Y ot @ 9
oA s fusmetFaswad s
(i) Tt $ e=at & FAF A po dewm n }
sivan famm, (i) TR wiig fH wdt 3
FrrE () it g qu R wreEn fawm

FIE /A H ww sEr R yen 3@
FA T8 HH

(1) wrferm & fore geaie 2

(2) frm % v § yerie B

(3) aftrma & o= & gegienT @

(4) s = e 3

SPACE FOR ROUGH WORK ; & &Wd & fou e

12



37. After explaining the operation of | 37. && 1l ¥ =yake (M) F Y=eH Hi

subtraction in Class II, teacheér drew T FH F qyaErq e ¥ wew w
the following diagram on the board A9 R o o o ot 91 @ R i
and asked the students to fill in the WA F fore =1

circles :

The purpose of the exercise is W AT H I §

(1) strengthening skill of addition (1) "o R =Tahad R @RVW =l
and subtraction MERGECICH a

(2) summative assessment (2) Hwfera YR

(3) arranging fun activity for the (3) Bl ¥ fau uweer R 6
students ' TEEAT HLAT

(4) mathematization of mind (4) uferss = i

38. How many rectangles are there in | 38. = fumu fw & g forat otmra 37
the following figure? :

The above question is testing IRE TA FE R @R

(1) knowledge of learner (1) Faneff & Sff:[‘ﬁ

(2) understanding of learner (2) Tovemeff = WEI (SvepreTar) @6
(3) creativity of learner (3) TRvarefl Y yyoran B

(4) memory of learner’ (4) fuenefl F ag w3 6 ufe =

SPACE FOR ROUGH WORK / 1% Eﬁf F foau sy

1-L 13 [ P.T.O.



39. Which of the following activities is | 39. 9 faar T ®H-w1 fFarpem Har 11 &
meant to enhance problem-solving BET St aEeren ®l g FA bl I §
abilities of students of Class III? gfg % forg 27
(1) A crossword puzzle containing .
clues for all key terms learnt (1) =% t-ugelt e i@ T wfl ge
like even number, odd number, Tel S g9 e, fywm g, 9y
composite  number, prime e, SWNT e AR % Hod
number, etc. (g feu mu &

(2) A group project How the
students of primary wing shall (2) B aufiRes uREsET - wrafte weet
be distributed equally in four ¥ Wl # §9F ®q § IR g
houses (house system of school) " ‘ . ‘
so that every house has talented (Wﬁ * HE'H EIUﬂ'éﬂ) i %H. ENE

i e o arfas & o @ @4,

students from sports, arts, ~ )
cultural and academic waAl, Wiepfow AR Afaen e
activities? & wftrraeft w1 8

(3) Conduct an interclass quiz in . ,
the class on ‘numbers and (3) w&m A ‘wem R wewH faw w
operations’ sttt qeel! wiaaifar s e

4 A worksheet =-. containing B e x g -
problems on four basic (4) ‘ifiqaa:' Fored A STETeHT T
operations like—Find 25 x 34, g JQ—qG e 25 x 34,
451 + 11, etc. 451 + 11 MR A &

40. The recommended key concept
in the unit of ‘multiplication’ in 40. &1 11 o ‘Tﬁ’ # o # 3’@#@3 Tl
Class III is HepeT 2
(1) multiplication of 2-digit number

with 2-digit number (1) A-3RE Fem A A-3HT F@ Y
(2) properties of multiplication— T 6T

order property and group

property (2) T % ToreH—3em T SN g o
(3) word problem based on

multiplication (3) oW W IMUTRG g -
(4) multiplication of 3-digit numbers . ]

by 10 o, (4) -3 TEmelt 10 & N

SPACE FOR ROUGH WORK / % &/ % fou we
1-L

14



41.

42.

43.

From the unit of ‘fraction’, -teacher
asked the students to list any five
fractions.

This question refers to
(1)
(2)
(3)
(4)

higher level of thinking
analytical thinking
spatial thinking

lower level of thinking

In an exercise, the question
was—Measure the lengths of the
line segments P Q and
R S.
The child answered—
length of AB =
length of AB

5 cm
3 cm

This refers to
(1)
(2)
(3)

conceptual error
procedural error

error due to habit of naming line
segment as AB

(4) reading error

A teacher distributed newspaper in
Class V and asked the students to
read the cricket scores of Indian
team in latest match. Then she
asked them to draw bar graph of the
scores. The teacher is trying to

(1) help the students to make
connections between mathe-
matical concepts and real life

teach them through project
approach

make the class joyful
communicating

(2)
(3) and

enhance reasoning power of the
students

(4)

41.

42.

43.

‘i’ & s A e 3 oAt A fad ol
fimt f gt 999 & o =

T WY THA BT 8

1) | F I WA

(2) fawivomes 9 =

(3) Pferdta /i ara

(4) R F A

freft s #.9W W, P e
TN Re— S X@ @ugl auné
i |
a= * W fem—
AB & @i = 5 ot
AB & g = 3 9t

Ig UFd T ?

(1) HherTeHS IR A

(2) wdifafies R A

(3) ar @ve # W AB forad €t ameq
* HRw IR A

(4) TR TR A

fofegem ¥ e v o aumm-ox faafa @

BE Y HEE AR % A9 0 wRdE W F

Raarfeal & frde & W H 957 & fow

FEl| 3% WREN 361 Ol § T I W

3g % dien & T war) =8 ffds g

ExRGR

(1) st R, awafos staq it i
HHeqTIaAl & HI9 GERY WEA A,
UEREl FE 6

(2) UfESAT I 3T B w3
E]

(3) HEM H IAFHI TE  ANIFRINA
T AR _

(4) B aifhw guan 9 3fg A A

SPACE FOR ROUGH WORK / T &1 & faw g

15
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44, The following word problem was

given to a child of Class IV :

Mumbai has 336 bus stops. Delhi
has 127 more bus stops than

Mumbai. How many bus stops are
there in all, in Delhi?

The child’s response to the above
problem is recorded as—

336 |Mumbai
336 "127 Delhi

Total bus-Istops in Delhi are
336 + 127 = 463.

The teacher shall report about his
performance as

(1) the child can find the answer
correctly but his expresswn is
poor

(2) the child is good at visualizing
and analyzing, and his problem-
solving ability is appreciable

(3) the child has not adopted the
right procedure. He needs to
practice more

(4) the child is not able to write all
steps required properly

44, s IV & fedt sm @ foafafem

e -guE & S

s d 336 w@ wiv ¥ fagh 4 gd @
127 96 wn e 3 g & 3o
fohat w@ o §?

B A IG0H GHE F IT @ TR fo

336, |g=E
336 | 127 | R

R & ¥ 336 + 127 = 463 =™
w81

e 3@ o & wesd & T i Fun fd
3

(1) B ¥8 S| I R %@ 8 g
3usht stf=afe fae 2

(2) B N ® wweR I IEE
ﬁs@r&wmﬁm%mm
m‘a’awﬁﬁﬁwmﬁm%

(3) B ¥ wd frfafy a8 st @
A o it TETEET B

(4) o Wit smaEs Tl W gt @
Iregar A€ @

SPACE FOR ROUGH WORK ;/ T &/ ¥ fau s

16



45. A student was asked to read the

46.

following numbers. :

306, 408, 4008, 4010

He read as follows :

Thirty six,. forty _eight, four
hundred eight, forty ten

The reason for error in reading is
that

(1} the studeni does ndt like Maths
class and finds the class boring

(2) the student has understood the
concept of place value but does
not know how to use it

(3) the student is not fit for study of
Maths

(4) the student is not able to
understand the concept of place
value .and feels comfortable
using two-digit numbers only

The parameter(s) of assessment for
‘time’ for Class IV shall be

(1) reading time on analogous clock
only !

(2) reading time on digital and
analogous clock, concept of half
past, -quarter past, quarter to,
a.m., p.m., relation Dbetween
minutes and seconds

(3) reading time on digital clock,
concept of a.m. and p.m. only

(4) reading time on digital clock
only

45, Tl o & 7 & W sema w e F

WWW:
306, 408, 4008, 4010
I T TH YHR 9l

B, wcfig e, IR o g, Tehe
Tq

Tg # 3R 1 FwRwr 2 e

(1) Bt @ g Y wan ) Ad T
i weq IS (FAFH) A B

(2) B A T o Y TEew @ 9um
ot R g I TN AL S

(3) BE W@ & ewm #W & fm
IgE AR

(4) o= wrdfE o i e &
ygar 2 3R S8 Fed d-3dhm
T3t Y T SEE AT 8

46, Fa IV ¥ o ‘@ F g H/F

Wreel B/ Eht
(1) et UG U R q9F TG

(2) 3ihvr udt 3R T O R WA qe,
e guay IAferh, Hens gver i,
RN 92 FH, a.m., p.m. E
Fereut, fiFe 3R ¥es 1wy

(3) had FF T W WHF UG, a.m.
3R p.m. H FHFF

(4) Fod 6 U W gHY 9F

SPACE FOR ROUGH WORK / & #d & fou e

[ P.T.O.



47.

48.

49.

‘Tall shape of  Mathematics’
mentioned in NCF, 2005 refers to

(1) solving challenging problems
(2) creating Maths game
(3) providing hands-on experience

(4) building of one concept on: other

Consider the following :
5+3=7
The open-ended question corres-

ponding to the above close-ended
question is

(1) Find the sum of 5 and 3.

(2) What shall be added to 5 to
get 8?7

(3) Give any two numbers whose
sum is 8.

(4) What is the sum of 5 and 3?

Farhan went to school library and
found that 100 books kept in story
section are spoiled. 20 books are
missing. 219 are kept in shelf and
132 were issued to students. How
many storybooks were there in the
library?

Teacher can teach the following
value through this question

(1) Helping others
(2) Sharing books with others
(3) Taking good care of books

(4) Sense of cooperation

47.

48.

49.

¥t wreTrEat ht wawE, 2005 # 3fgiaa
‘ifira Y el SrrRfa’ Hohd R

(1) gyl awenett & g @

(2) v & @&t F geH

(3) wEdReg ST WA

(4) S HRSUN R gEd zie;m:{u AT

Freafafae w fmm fifse
5+ 3=7
39 Hitq-3W T F qegEd Toh-IW T
am ,
(1) 5 3R 3 =1 @ e fifw

(2) 5 # F:N S AT AT ATl 8 WH
R

(3) i THt A wEd TRy REew am
8 31 :

(4) saﬁxsamla‘mwﬁfn?

FEM 3 ey F gErEeeE § R W A8
grn 5 et g § Tt 100 e T8
@ ¥ 20 Yww #w Rl W gar
T8 21 219 YEas st # wit ¥ ol
132 gEaht & o= @l g h faw &
T R YREET W FA fRaHT FRT i
g off?

foer g W T Ffafa fra o1 )

* el wEaT 27 - .

(1) 1= & I HEAT

(2) = % T TP ht AP
(3) Yl i I @A AT

(4) TEEm 6t HagTEiedr

SPACE FOR ROUGH WORK / T &1 & fou smg
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50.

The:product of the place values of
S5 and 6 in 70560 is

(1) 300 (2) 3000

(3) 30000 4) 30

50., 70560 - ® 5 3 6 F sy mwEl =

TOAEH &
(1) 300 (2) 3000
(3) 30000 (4) 30

When 3010301 is divided by 43, the | 51, 3010301 % 43 & 5T & T AT 2
quotient is
(1) 70707 (2) 70007
(1) 70707 (2) 70007
(3) 7077 (4) 7007
(3) 7077 4 7007 _
52. TR 3001 x 101 #/ w1 wImn WY
52. What should be subtracted from the e 5 300311 W1 &7
product 3001 x 101 to get 3003117 ’
(3) 2970 (4) 270 (3) 2970 (4) 270
53. (Smallest common multiple of 36 53. (36 3 60: =l m;m ,Wi ] )
and 60) + (Biggest common factor of + (18 3 45 =1 W w11 WA PrETE)
18 and 45) is equal to A R
(1) 20 (2) 30 (1) 20 (2) “'30
(3) 40 @ 10 (3) 40 @) 10
SPACE FOR ‘ROUGH WORK ; & &1 ¥ fu s
1-L | P.T.O.



54. (10 tens + 11 hundreds +‘12 ofi€s)

equals T
(1) 1213 (2) 111012
(3) 101112 (4) 1212

55. The number of factors of 42 is

A8

(1) 7 28 Y

@) 9 4 6

56. When 3488 is divided by 12 and

2478 is divided by 11, the difference
between the remainders in both

cases is I
b e r;i

(1) 5 (2) 6-

(3) 7 4 3

toa o,

57. A train leaves station P at 8:18 a.m.
and reaches station Q at 10:28 p.m.
on the same day. The time taken by
the train to reach-Q i§~ : .&€

' The
(1) 14 hours 10 minutes..

5

(2) 14 hours 46 minutes

(3) 18 hours 46 minutes

o

(4) 13 hours 10 minutés

‘54. (10 asnéu 11 &mwer + 12@@%) O 3

L —10\“ LAY 5"‘1

(1) 1213 (2) 111012
ons ts
(3) 101112  (4) 1212
’\}U '

55. 42 ¥ TUFEUS! hl T @
*H1) 7 obesib 2T I0R) 18
2: N

B9y & @6

56. 3488 % 12N WM FE R YH IHS IR
2478 F 11 ¥ WM HA G I IR 4

N .;L‘(]:)f:-sam!duf_ o fé)"‘-‘(i-"
R 2 L5 RoRE ST U TRR P B

(3) o, (4) 3=

I"\\‘ﬁ

57. T WS Wy P #7818 am. W
TR B9 Q W 3 i 10:28 p.m. W
wgadt 21 et T Q @& 9ged | @

R .
o g o . o o ge s v Oe

10 ") '*14"«10%. toR = A

Ispns ¢ -» o T

(2) 14 99 46 fme

v

(3) 18w 46 fime
(4) 13'=ERi10 fFe

SPACE FOR ROUGH WORK /i mﬂm * ﬁ»w S



58.

59.

14 L 280 mL of orange™juicerand
18 L 830 mL m?f carrot ) JUICC were
mixed together Thlsmrhlxtureﬂ'%/as

filled in 15 bottles each containing

. 1-5 L.-How much;mixture}was left?&

?F'IE PRBT P
() 11L105mL ' F
@ 9L6lomL T L3
® w oo s flerg
(3) 11 L 605:mbLy s
N :'a
(4) 10 L 610 mL
i - L , ;ﬁfgr., l'
TS AT

One-fourth of a pizza was eaten by
Renu. “*Thé* rest? ' was 'lequally
distributed * “afhong! 012 children.
What part of the plzza d1d each of

_ these chlldren get? B

60.

=, I
1 1
1) — Vio(2) =F (L
M @ 357 !
JAS o, FTag 00
3 .vh 1 roh
3) — (4) =
16 50,8 .
oA e "7 e
s o e REDR 26

The number. of secqus in 6 hours
equals the number of mmutes in

A1) 4 days 5y - -y K
. i “iTee ?‘(‘L’ﬁq"’ﬁ
(2) 10 days
oo & SFESTS e T )
(3) 15 days &7 T+ &
(4)‘ 2 days

Lo v FEEE O

10

.58,

. 59..

r

2 az’tr'ﬂéﬁf'ﬁ%r e fstr s=r?

()

1,0

‘145, 280 Feft R ow osm ek
vr, 1ark8 S 830 fuelt SR w1 @ <E A ww

mﬁmwnwﬁwﬁﬁ 15 &t
ﬁ,ﬁrﬁﬁmﬁlsaﬁamﬂmm

ac

(1) 1tf«ﬁ 10511‘@

(2) 9 sﬁ 610 rtwﬁ
(3)°411 rvﬁ‘sosﬁ?ﬁ
1070 610 firett -

b

foreft fas 1 wan-<e s g 4 @ forn)
9 s & 12 7= § |WER Fie &
T A yds 2 W e @ fwen wm

o

1 1
(1) 16 (2) 33

3 1
(3) 16 4) 3

60 6Ervﬁﬁﬁm’lﬁmﬁﬁ4fafﬁﬁ

vy
M

e’

P

4+

@) 2t

ﬁqﬁaﬁtm%m%?
(1) 41??
(2) 10f=

@) 157

-

"1 r

1-L

SPACE}FOR ROUGH WORK / 1% %1 % fog wmg
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PART—III / stra—III
ENVIRONMENTAL STUDIES / waterur steaas

Directions : Answer the following questions
by selecting the most appropriate option.

61.

62.

1-L

Select the true statements from the
following :

L

1L

1.

IV.

(1)
(2)
(3)
(4)

Elephants love to play with |

muddy water as it keeps their
skin cool.

Most elephants like to take rest
and sleep nearly 10 hours a
day.

A  three-month-old
weighs about 200 kg.

elephant

Most adult elephants eat about |

100 kg of leaves/twigs in one
day.

I1 and IV only
I and IV only
I, III and IV
I and II only

Select the correct statements about
Madhubani paintings :

A.

(1)
(2)
3)
(4)

To make these paintings, indigo,
turmeric, colours from flowers
and trees, etc., are used.

The paintings show human
beings, animals, trees, flowers,
birds, fish, etc.

It is a very old form of folk art
and is named after the place
Madhubani.

Madhubani is a well-known
district of Rajasthan.

A, Cand D
A, Band D
B, Cand D
A, Band C

fAger : frafafeg yet & s [ & foe w=@
3t T gfa

61, frafafla @ @ voa wom ghiw

L

IL.

I11.

Iv.

(1)
(2)
3)
(4)

ol TeS wrEt § @e wmw e 8,
Fifh 8@ T TR @ deF e
81

sftrestyr grefi &9 & TP 10 wR
IR FET A WA TEE F@ B

@Y F ol F a2 H I T
200 freimmm gen 1

aftyr @3 Tl w e § nm
100 f¥eum o= /anfea @ ax 21

Faat 11 3R 1V
Faa [ v IV
I, 11 R IV
Faet 1 3R 1

62. Ty« fmee & R § W A YT

A.

(1)
(2)
(3)

(4)

22

& Rt = TR § i, 5, -t
F W fe w1 ue fRan W R

= fat & fom, W, U, ¢, 99,
Tofaal anfe Ram s &

9 e REwen gga gt @ R
TS U AYSH AF TE F AW W
REW

nga'-ﬂmmmmﬁ-u%afﬁw%l
A, C3RD
A, B3R D
B, C 3D
A, B3R C



63. A bird makes its:nest high up on a

64.

£
[+ B

1-L

tree. This bird could. be
(1) ‘_Sunbird

(2) Indian Robin
(3) CroL\;v.

(4) Dove
Pochampally is a. village which is
famous for the special cloth which

is also called yPochampally. This
village is a part of

(1) Kerala

(2) Karnataka

(3) Andhra Pradesh

(4) Tamil Nadu

Select the correct statements about
‘Desert Oak’ :

A. It is a tree found in Australia.

B. This is a special kind of tree
which has its roots growing
from its branches.

C. The roots of this tree go deep
into the ground till they reach

water.

D. This tree stores. water in its
trunk. Local people use thin
pipe to drink this water.

(1) A, Band D

(2) A, Cand D

(3) B,Cand D

(4) A, Band C

23

63. w1 gght Uz & F=h o1 W oAU Higen

64.

65.

ST 8| TE welt 8 g @

(1) TG

(2) ettt

(3) e

(4) W
qﬁarm@ﬁqsﬁrﬁa%maiﬁa@ﬁrﬁqw:
& FIS H IR & (oY wihg § 3 @ of
Tremagt @ F&d &1 98 Wa FArled 7 9
foperant W 37 .

(1) +©

(2) FH

(3) Ty wR;

(4) afrg

Urearht 20w F aR | wE FuA FAT
A. 98 U3 fieforn ¥ urn s B

B. U8 % foaoiv yewr w0 g 8, R
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(1) A, B3MD
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66.

67.

68.

Select the correct statements about |

Abu Dhabi :
A. It is located in desert area.

B. Water is costlier than petrol in
Abu Dhabi.

C. Arabic is the local language
here. '

D. Money used in Abu Dhabi is
called Dinar.

A, Band D
A, Cand D
B, Cand D
A, Band C

(1)
(2)
(3)
(4)
There are animals that awake at

night. These animals can see things
only in

(1) violet and blue colours
(2) green and yellow colours
(3) black and white colours

(4) red and orange colours

Here in Fig. I, a 24-hour clock is
shown and in Fig. II and Fig. III,
sleeping times of two animals X and
Y are shown by shaded portions.
Select the correct statement about
the sleeping times of X and Y :

24 h Animal X

Animal Y

12h
Fig. I Fig. Il Fig. 1l
(1) X sleeps for 20 hours while
Y sleeps for 18 hours
(2) X sleeps for 18 hours while Y
sleeps for 4 hours
(3) X sleeps for 4 hours while Y
sleeps for 18 hours
(4) X sleeps for 4 hours while Y |
sleeps for 20 hours

66.

67.

68.
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69.

70.

What is the Dead Sea?

(1) A sea whose water is poisonous

{2) A sea which is saltiest of all
oceans and seas

(3) A sea in which high and low
tides are very frequent

(4) A sea in which it is dangerous to
sail ships

Anjali desires to emphasize on
cultural/regional diversity in food
habits, while teaching the topic on
‘Food’ to Class Ill students. Which
one of the following learning
experiences given to students can
bring about the desired result?

(1) Use a chart showing foods of
different cultures/regions and
explain

(2) Ask students from different
cultures/regions to bring food
from home, display it and share
the information with classmates

Explain the information given
in the textbook about different
foods in greater detail

(4) Request an external profes-
sional cooking agency to display
food of different regions/

cultures

25

69. Td °FR =T B?

- 70.

(1) e e fomwe ot stetien g 2

(2) Y @R S wdt wEEmd @ |rRl A
FTET THHH B

(3) ¥ur mrw fed sar-wr sga g wfa
¥ o ¥

(4) Yo @R e BN 99 @A

B @

w1 111 & Traffat | ‘Wew” #1 wie gen
ora aiwfer WieM wERREM ofRal §
wieptesn/axfm fduar w fgw wam
Tt 31 AR fou T sfm-sEed 4§
foraeh g frenfit =6t aifea s & wn
HHd 87

(1) faflm &t /vesfaal & sism @ soid
Tl 9T IqAEm I 3G smEn
FHEAT

(2) fafm a=t/afet & feR @
IF 9§ @i 91 A disH TIes
yefdfa ®C R wEarie T | FIAS

&l RIA-ASH RLAT

TR B fafie s & wisEl %
fawa #§ & wff sl K ok frwa
R FAT -

(3)

et arslt Wism s el et
ol ® s W fabm ey
wEpfiEl & WieH 1 YeT HA

(4)

[ P.T.O.




71.

72.

1-L

Preeti wants to lay greater emphasis
on ‘Pollution’ while teaching
environmental concerns to Class V
students. Which one of the following
activities is likely to be most effective
in achieving the desired objective?

(1) Asking students to prepare
charts on different kinds of
pollution

(2) Taking students on -a field visit
to a polluted river

(3) Asking students to take up
group projects related to
different kinds of pollution

(4) Inviting experts to talk on air,
water and noise pollution

Neha uses the following assessment
techniques in the subject of EVS
for Class V :

[.  Hands-on activities assessment
II. Home assignment assessment
III. Project work assessment

IV. Oral testing

Which one of the following pairs of
techniques is likely to be more
objective assessment?

(1) I and III
2) 1and IV
(3) I and IV

(4) Iand I
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73. A good home assignment in EVS
should primarily focus-on - .

. 3 . ..sf‘; '
(1) revision and reinfércement
o S
mastery learning

(2)

B
challenge and exmtement for
extended learning

¥ > R
better utilization of time

3)
(4)

74. Shalini has planned a fiéld trip for
Class IV students to the Science
Centre. Which one of the followmg
general inistriictions given''to the

students is irrelevant for the trip?

(1)

Ask questions for your doubts
"on displays

Carry yoursfull schoolbag for
the day

- (2)

(3) Do ‘not g0 mﬁhere without

informing me

(4) Take a notepad and pen with

you

75. Good EVS curriculum, at primary

stage should

(1) include more practice questions
in end exercises

(2) provide oppofhihities to explore
surroundings

(3) focus more on  detailed

explanation of concepts

(4) on' exact

emphasize more -
definition of terms

1-L
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76.

77.

78.

Poems and stories have been included
in EVS textbooks for primary stage
in order to

(1) develop literary skills in
students B )

(2) provide fun and en_]oyment in
learning of the subject*™

(3) enhance understanding of
fundamental concepts

(4) have a change in routine and
monotony of presentation of
content

Four perspective teachers were

asked to make a presentation on the
theme Travel’ to Class V students.
Each of them mainly focussed on
one of the following strategies

(1) Using charts to show different
modes of travel along with
explanation

Using textbook content to
explain different modes of travel

(3). Asking students to collect
pictures of different modes of
travel and prepare a scrapbook

(4) Asking students to narrate their
own travel experiences using
various modes of travel

(2)

‘Think and Discuss’ section in one
chapter of EVS textbook in Class V
includes the following statement

“What would happen if you don’t get
petrol or diesel for a week in your
village or town?”

The statement primarily aims at

(1) sensitizing students on using oil

judiciously

(2) assessing students on sources
of petrol and diesel

(3) promoting imaginative and
thinking skills to understand
real life concerns

(4) creating awareness about

scarcity of petrol and diesel

~76.

7.

78.
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79,

80.

81.

1-L

The techniqueé n. offd ‘Classroom
questioning’ inzteaching oftEVS can
be used best for (

L2t fe we 'H&

Ea - T ,,pn

ey 'f

(1) drawm ét’entlon of " students
COYE TR [ PTFBIEE
,(2) *amusmg ~cu %«?ssul}y in  the
‘learners’ H
i Ry

() promotingspractical, skills

(4) maintaininig -disciplinesin the
class. - M

COPBLE LY ¥ RE (0
One of the majorgtobjectives of
teaching of EVS at primary stage is

to
T “ Cx :é TFrd ‘ﬂ.‘gp. &

'(1) develop in:dépth understanding

- of basic.concepts;of:thesubject

j oTET (o T

(2) prepare students for stuclles at
the mextgstage; fspy |
TR - e
(3) help the learners link classroom
- . learning to,.¢life groutside the
school '
g% EE b
(4) acqu1re skllls to carry out hands-

* on activities~independently
|23

Which one of the followmg is not a
suitable’ act1v1ty ag prlfrfiry stage to
sensitize"sttidentsto¥the” concept of
conserva.tlron ofttrees’)xL S

(1) Organizidg™ Ta™ sldgan-writing
competition onstreest
‘Encotiragifig® évery¥stident to
adopt-astree . andmdook after it

(2)

(3) Showing childrén-starage of logs

-of wood izt wTFER)
(4) Ofganizing * dF¥poSter:making
competition=onstrées:
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82. While teaching the topic on Water’

84.

EVS
role-play

classroom; - Anjali
on different
individual
The

in .. her
organizes
sources of water and
actions to conserve water.
activity is primarily aimed at
(1)

improving" social skills of
students -

(2) breaking monotony in the

process of learning
(3) ensuring active participation
of students in the process of
learning

enhancing students’ k@owlédge
on sources of water

(4)

EVS curriculum :at primary stage

has been developed to include pure

Science as well as Social Science

concepts. This has been done

primarily to ’

(1) enable a learner‘look at environ-
ment in a holistic manner

(2) reduce the numbér ‘of subjects
to be studied

(3) reduce the load .of schoolbag

(4) reduce the requirement of
subject teachers

Which one of the following-will be

more effective learning experience

to emphasize more on social

inequalities in an EVS class?

(1) Showing video films on related
issue

(2) Orgamzmg spe01al lectures on
related issue ‘

(3) Conducting a quiz contest on
the issue

(4) Asking the students to
undertake group “Projects
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85.

86.

While discussing liking and disliking
a student says, “I and my mother
both love to eat snakes. Whenever
we feel like eatmg snakes, weé go to a
nearby hotel “and ‘éat - Ling-hu-fen.”
This student must-belong to.

(1) Assam |

(2) Hong Kong

(3) Odisha

(4) Arunacha1 Pradesh

Study the following

statements
about Braille script : '

I.  Braille is written on a thick
paper by making dots (raised
points).

II. This script is based on eight
points.

III. Rows of dots .are made with a
pointed tool.

IV. It is read by running the fingers
on the raised dots.

‘ The correct statements are

(1) 1, Iil and IV
(2) I, Il and IV
(3) 1II, Il and IV

(4) I, 11 and III .
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8'7. Select the correct statements from
the following :

88.

A.

D.

(1)
(2)
(3)

{4)

Animals that have outside ears
and hair on their body give birth
to the young ones.

Animals that do not have
outside ears and hair on their
body lay eggs. '

Animals that do not have outside
ears and hair on their body give
birth to the young ones.

Animals that have outside ears
and hair on their body lay eggs.

A and C only
B and D only
B and C only

A and B only

Select the correct statements about
beekeeping :

L.

II.

II1.

Iv.

(1)

(3)

{4)

January to March is the best
time to start beekeeping.

Honeybees are attracted to the
Lichi flowers.

Boxes are needed for keeping
bees and storing honey
produced by them.

Sugar is purchased to make
syrup for honeybees.

Il and III only
I and IV only
II, IIT and IV

I and II only
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89. A student noted down the following |

information in her diary abouts
her journey from Ahmedabad 'to
Nagarcoil : : -
Station Amival Departure Distance from
~Time - “Time  Gandhidham.
T (in kilometres)
301
2649

Date

10.2.2014 Ahmedabad 11:30 a.m. 11:50 a.m.
12.2.2014 Nagarcoil 04:45 a.m.00:00

From the above information, the
following conclusions were drawn :

A. The distance between
Ahmedabad and Nagarcoil is
2348 km.

4
B. The train covers- this distance
in 40 hours 55 minutes. -

C. The train covers this distance
in 28 hours 55 minutes.

D. The average speed of the train
is about 80 km per hour.

The correct conclusions are
(1) A, Cand D
(2) A, Band D
(3) A and B only
(4} A and C only

90. Which of the following information

may be obtained from a reserved rail
ticket?

A. Date and time of booking, date
and time of start of journey

B. Coach number, berth numiber

and fare

C. Name, age and sex of the
passengers

D. Train number with name,
boarding station and last
station

E. Date and time of arrival at the
destination

(1) A, B and D only
(2) A, B, C and D
(3) A, B,D and E
(4) A, C and E only

1-L
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| questions from the following Part
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ENGLISH as. LANGUAGE—I.
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PART—IV : Language—I
' ENGLISH

Directions : Read the given passage and |
answer the questlons Q. Nos. 91 'to 99)
that follow by selecting the most appropriate
option.

“

He has reservations on the treatment of
dance in Indian films, but, given a chance
to. work on his own terms, legendary
Kathak Dancer Pandit Bll‘_]u ‘Maharaj would
like to work more in Bollywood. The
75-year-old tells us, “In my opinion, dance
is adulterated in Bollywood. To make it
more dramatic, the dancers are asked to
perform in an exaggerated “manner. That
makes any kind of dance impure, especially
classical dance. I'd like to work more in
Hindi films, provided my dance is not
tampered with.”

The Kathak maestro tells us that over the
years he’s been hlghly 1mpressed with
how, some female actors have showcased
classical dance on screen. On being asked
on how he' sees the passion for dante
among youngsters in the ‘country, Birju
Maharaj says, “I see that the young
generation is divided in their response to
classical dance. But in all my interactions
with  the younger lot, I have been
1mpressedg “These children have such
amazing, presence of mind, listening and
learning while I talk and teach them.” It is
often said that classical dance doesn’t
receive due credit, but the man who is an
authority on the subject thinks Delhi
receives the art well. “I feel that classical
dance might not be on a rise, in popularity,
but I have always been overwhelmed by
the response that I have received in Delhi.

1-L

My performances have always been
applauded by packed houses in the
Capital,” he opines.

91. The information presented here
about Birju Maharaj can be found
in a/an
(1) newspaper article
(2) diary
(3) encyclopedia
(4) autobiography

92. The observation that ‘dance is
adulterated’ means that the dance
form is
(1) not practiced according to

tradition
(2) found in adult entertainment
(3) performed only in films
(4) suitable to be performed by
adults

93. Here, “to perform in an exaggerated
manner” suggests that performers
(1) are not professionally trained
(2) deliberately distort the dance

form
(3) only dance for a selected
audience
(4} cannot dance
94. A ‘packed house’ during his

performapce suggests that it was
(1) jammed in tightly |

(2) filled into

(3) exceeding allotted time

(4) well-attended
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95.

96.

97.

98.

99,

1-L

The younger dancers have: presence
of mind’ means: that they

(1) .are open to learning the pure
form of the dance

(2) prefer traditional

styles. of
dancing

(3) can combine to. perform\ in the
traditional .and modern styles

(4) are calm while they prepare to
perform

Birju Maharaj’s assessment of his
popularity lies in

(1) the . large numbers _i:7of
practitioners gand gadmirers of
his style in “Delhip~a,

(2) the influence "®f ~ traditional
styles in modern dance

(3) his migrating to!Mumbai on
popular demand by producers

(4) the number of dances he has
choreographed in films

A word that can replace ‘the phrase
‘tampered with’ in the passage is

(1) falsified ’
(2) misrepresented

(3) disturbed

(4) misused

the

An  antonym  for

‘showcased’ is

(1) advertised

(2) published ‘
(3) abridged

(4) withheld

A synonym for the word ‘inspired’
from the text is

(1) adulterated

(2) impressed

(3) received .

(4) divided !
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word -

Directions

AnSWerﬁ the following

questlons (Q. Nos 100, to 114) by selecting
the most appropriate optlon_

100.

101.

102.

103.

pupil’
‘with ‘suitable words- ba.sed on her

- .(_-'

To evaluate reading:comprehension
at Class III level students ,ay be
asked to -

(1) retell a story in the1r own words
ror to summanze the mam idea
of the ‘moral of the story

(2) take a shoért dictation of what
they have read B

(3) write a dlary based on one of
the characters¢ -

(4) use a set of:- identified
vocabulary on their own

‘An exermse where words are “left

out of a shorter? passage ahd the
must’ fill “in the blanks

readlng, assesses her ablhty to
3 £ _=' 3 (2 ¥

(1) comprehend gL i
(2) use new words., .
(3) summarize o
crfert 3wy

(4) spell words
T P

~4

Creating or retnevmg what the
student wants to sav and then
generating a suitable text to say it,
are stages.of theys—.-process. -

* ~
o g

(1) hstenmg

W a0 e
(2) wntlng Cape e
(3) speaking.. . . .
(4) creative R TP R

Use’ of grammar punetuatlcan and
spelling pertains to’

(1) ‘text-production- wh11e writmg
A M G -

(2) formal speech

- - oo

-(3): 11sten1ng to a lecture

(4 informal convérsation



104., Read the following exchange :

Sy 8

Speaker 7"

-
L]

Have you béen to Indore?

DUNSRARETRS

Speaker 2 Who’)
Speaker I::{To. Indore 1n Madhya Pradesh.

? 'Speakér 2" Umrd.|

105.

+
1.3

e

106.

1 am not sure,.

During the assessment of students’

' speaklng sk1].ls mark(s) would be

deducted durmg th1s exchange for

(1) none of them

(2) the second sﬁéaker

(3) both of- them
(4) the first'speaker =

. “A student recommends the readmg
rof “the latest ;. best seller, saying
,;that it is - 'veryI 1nterestmg You

hsten,(trymg to make out whether

.the students observatxon is sincere

or not.” This type “of l1sten1ng can be

described as. .1 ..

(1) critical
(2) c:omprehengfon
(3) sympathetic
' (?) active o
% 1 ; ‘ 1

“Children deserve’most-of the cred1t

.....

1mphes that in
modern classrooms °  's

(1) students pursué’théir own lines

of enquiry

(2) students need not attend
L2 classes

(3) students may choose L2 on |
thelr own

Tl oa e VLS 1

4) the teacher establishes the
task ‘and supports or fac111tates
learmning, . 5 -
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108.

109.

107. Types of ‘text media’ are

audio discs and tapes

(1) ,

(2) illustrations and diagrams

(3) motion pictures and
documentaries

(4) digital e-books, e-journals

Which of the following resources will
help ‘to:break down communication
barriers .and enable children to
study and learn in both L1 and L2?

(1)  Multilingual

(2) Multimedia

- (3) More textual

(4) Communicative

Students le'arning a langﬁage often

lack confidence when speaking
due to the language’s unique
pronunciation rules. One way to

overcome this problem is’

(1) children reading aloud in class

(2) using game-like activities which
require verbal interactions in
the iclassro{om

(3) conducting special  speech
therapy with a counsellor

(4) correcting errors whenever they

happen .



110.

111.

The contemporary target language
classroom is a confluence of varied
languages and language abilities.
Teachers should restructure their
practices by exposing students to

(1) sumimaries and simplified
versions of the learning
materials, e.g., stories, grammar
notes, etc.

(2) worksheets with a variety of
tasks which cover the syllabus,
and students give their
responses in class under

teacher’s guidance

(3) appropriate challenges : based
on the syllabus; in a secure
environment, opportunities for
all students to explore ideas

and gain mastery

(4) adequate self-explanatory notes,
either prepared by teacher or

from rnaterial writers

For students to gain language
skills from textbooks, the textbook
learning should

(1) correlate with assessment and
achievement

(2) lead to wusing the textbook
sparingly

(3) expose them to more literary
reading

(4} become more  cost-effective
compared to technologically

supported courses
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112. While teaching hearing impaired

113.

114.

students in an inclusive class, it is

. necessary for teachers to

(1) make sure that they are
including signs and nonverbal
signals to strengthen any
-communication

2

conduct regular a special class
for such students

be in constant touch with the

(3)
parents of such students
(4) use cue cards to signal the
teaching content
While translating ~a subjéct
and using the translation in
the mainstream curriculum, the

benefit is

(1)

promoting national identity

(2) enriching linguistic capability
and appreciation

(3) enabling teachers who are not
competent in the mainstream
language to take classes

(4) standardizing cultural iclentity

Some criteria for the selection of
language items should involve

enough worksheets for practice

(1)

(2) everyday vocabulary and
sentences

(3) their learnability, coverage and
teachability

(4) a focus on language rules

| P.T.O.



Directions : Read the given poem and
answer the questions (Q. Nos. 115 to 120)
that follow by selecting the most appropriate
option.

Sprinkle, squish between=my toes,
The smell of ocean to my nose.

I can feel each grain of 'sand,

It falls from air into my hand.

The shells I find along the shore,
Picked up by birds that fly and. soar.
They sparkle like:the ocean’s waves,
And carry sand from all the lakes.

I walk -

That’s where my feet-leave prints to be.
I walk all the way to the end of the land,
The land that holds this beautiful sand.

—Morgan Swain

115. The poem’s central theme is
(1) a factual desC:fi!ptibn of nature
(2) sharing experiences with nature
{3) a recollection of a visit
(4) an introspection by the writer

Here, “to the end of the land” refers
to the '

116.

(1)  sealine
(2) land
(3) sky

(4) horizon

117. Here, “That’s where my feet leave

prints to be” means that the writer

(1) knows that

everything  is
temporary
(2) relives past visits
(3) expects to forget the‘experience
(4) hopes to remember his visit

38

118. The phrase in the pecem that conveys
the same meaning as “along the tip
of the .sea”.is

(1) “each grain of sand”
(2) “end of the land”

(3) “air into my hand”
;;}!(;}) “like the oééan’s waves”

119.i The poetic device used in the line
2“They sparkle like the ocean’s
waves” is afan

{1) hyperbole
[ &
*(2) exaggeration

(3) simile

(4) allegory

120. A word that can replace ‘squish’ is

(1) crush
{2) hold
scrunch

(3)

(4) trample
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(2) forem & 3= @ wamaik B
(3) e qula: Rrfara =t &
(4) 3 orgrit &

93. 3 MW F AR e K sl wom

EEERGIECIECI RICE

(1) Toems 6 sufeafy

(2) Trers & o9 FHEH B

(3) W W WA IFFER T

(4) B w1 dien F e 3egE o

94. TN % IFPUR 3|l A fommum H
forsean == ®7

(1) ﬁﬂwmwm?

(2) Tems ‘g’ ¢ i wm G %
(3) erey fiers g9 3afigs o ?
(4) o wrEiaEt F s Afend R

[ P.T.O.



95.

96.

97.

98.

99,

1-L

T § —— W RO =5 e g
(1) e sfed -

(2) hfeat & g

(3) fufirdt Frmm 5
(4) Ter R o % W gy

‘Rrgrar’ wreg & w47 aren fomiwor R
(1) el
(2) FrgramEren

(3) fommg
(4) Tgrenfe

o wea & &yt @ W g RY
(1) areafeeran

(2) T

(3) Tawiwar

(4) e

g e # ‘fara’ wee @ o R
(1) waa

(2) T

(3) =g

(4) T

* I g w21 @it wse A
e fFm Wiz s R S we 27

(1) wwfora

(2) wiwira
(3) erafifea
(4) wiceuTar

40
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1-L
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Candidates should
questions from the :fo'llow}“.ng Part
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ENGLISH as LANGUAGE—IL.
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PART—V : Language—II
ENGLISH

Directions : Read the given passage and
answer the questions!{Qf Nos¥121 to 129)
that follow by selecting the most appropriate
option. :

“Get well soon!” Shanta sai_d, handing
Partha a yellow balloon. She was his third
visitor. That’s because she was his class
teacher’s daughter, and her mother made

her visit him. The other two, Rahul and |

Syed, weren’t really his friends, although
they often ganged up with him against
other kids to take away their lunch pocket
money. Partha knew he wouldn’t have long
to live. He could feel it, deep inside. Seeing
his aunty crying after talking with the
doctor confirmed it: His time had come.
He didn’t tell his visitors, though. They
would either pity him, or be happy to get
rid of him.

Once Shanta left, he ripped a page off from
his notebook and wrote—

“Dear God, I know I messed up ai'ld nobody
likes me. Please give me a second chance.
[ can show you what a good friend I can be.”

He drew a map showing the way from the
school to the hospital, walked shakily to
the window, and let the balloon fly away,
carrying his message towards God.

1-L

The balloon was heading straight to
a telephone pole, but a gentle breeze blew
it away just in time. It crossed the park and

disappeared out of view.

The next day, a boy he had never met
before came to visit him. “I find balloon,”
he said. “You are lonely ?”

He just nodded, too startled to talk.

“I
Afghanistan and | no speak English good.”
He smiled. “I bring gift to you.” He handed
him a small bag of fruits. “I pray for friend,

lonely too. My family come from

and God give me friend.”

Normally, he would have made fun of his

broken English and his long, baggy brown

kurta, but he knew better. He smiled and
offered him the first orange.

121. One student the reader understands
did not really want to meet Partha,
that is
(1) Shanta
(2) Syed

(3) Rahul

(4) the Afghan boy

44



122.

123.

124,

Partha felt lonely because ——
visited him when he was at the
hospital.

his class teacher

(1)

(2) only Syed and Rahul from his

class

(3) he had no friends at -school,

SO no one

(4) Shanta

A synonym for the word ‘startled’
in the passage is

(1) surprised
(2} stunned
(3) avoided
(4} composed

An antonym for the word ‘shakily’ in
the passage is

(1) unsure
(2) unsteadily
(3) firmly
(4) rickety

45

125.

126.

127.

Partha’s feeling of loneliness scon
turned to Lot

irritation '

1
(2) sympathy
(3) self-pity
(4) anger

Partha would -not go back to school
to meet his schoolmates and
teachers because '

’ q-,. . P
(1) his parents wanted to change
his school

(2) he did not h'%v_e long to live

(3) he hated hiszschool as

he had
no. friends .

'
£

(4) his doctors{J did not let him

The message in the passage is

(1) -lonciineés is inevitable

[

(2) about faith in God_

(3) all actions have consequences
. . E -
wd

(4) friendship is rare

[ P.T.O.



128.

129.

Directions :

The change: in'.Partha’s attitude is
evident when he :

(1) accepted the fruits from
a stranger, although he disliked
oranges R

(2) refrained from poking fun at
the Afghan boy and-shared the

fruits
(3) was unmoved,k even when his

aunt was crying

sent a letter to God wr1tten on
a balloon

(4)

A phrase that can replace the words
‘ganged up’ is

(1) joined in opposition ..

(2) formed a group
T,

(3) supported together

(4) became friends
’ R

Answer the following

questions (Q Nos. 130 to 144) by selectmg
the most appropnate optLorL

130.

131,

1-L

aWhiler " «.evaluating students’
responses fort .t ar. reading
comprehension, marks may be
deducted for — errors.
(1) grammatlcal
(2) syntactical
(3) content
(4) spelling ..
A text that requires students to scan

in order to understand“and analyze
the writer’s message and purpose
could be

(1) an encyclopedic extract

(2) a newspaper headline

(3) a set of ifistructions to assemble
a device

(4) apoem -

46

132.

133.

134.

' may be

students
use

While drafting a notice,
instructed to -—
language.

(1) direct

(2) intrigue

(3) descriptive

(4) elaborate

For evaluating a poster designed as

a part of a competiticn, which of
the following criteria would be the

~most appropriate for the judges?

Relevant and

word limit

Use of quotations,
visual appeal
Creativity, relevant content and
visual appeal
Creativity, fonts
appeal

(1 content, style

(2) style and

3)

visual
b

and

“4)

Learners lack confidence to speak
in the target language in class where
the main language of conversation

is the local vernacular. This

challenge can be met by

(1) allowing students to speak
about whatever they can,
irrespective of the grammatical
errors, enhance - their
vocabulary and gradually make
corrections

(2) allowing students to watch

English films as motivation,

practice a drill consisting
of useful sentences and
vocabulary’ with ©  regular

correction of grammatical errors

insisting on students’ using only
the target language irrespective
of the grammatical errors,
enhance their vocabulary, with
regular feedback on their
performance

instructing them tc
slowly and self-correct
grammatical errors, enhance
their vocabulary with a list of
useful words

3)

(4) speak



135.

136.

137.

1-L

In order to drive home the point
that listening skills matter, students
should be

(1) exposed to popular English
films and reviewing them

{2) taken to the language lab once
a week for practice and feedback

(3) allowed to listen to CD’s of
poetry read aloud by well-
known voice-artistes

(4) reminded that listening-skill
practices relate to real life

Learning a new language after
puberty leads to —— of a foreign
language. '

(1) difficulty in acquisition
(2) norrnal acquisition
(3) greater mastery

(4) loss of mastery

An activity that requires a class to
design and present a PowerPoint
on the importance of water
conservation in a target language is
a —— activity.

(1) multidisciplinary
(2) science project
(3) group

(4) language practice

47

138. To enable students to distinguish

139.

140.

between academic and spoken forms
of a target language in a bilingual
class, they should be encouraged to

(1) speak in the target language

(2) read more books' written in the

target language
(3) write more .in the
language

target

(4) watch more related bilingual
films

Providing learning support to
pupils who lag far. behind their
counterparts in school performance
includes o

(1) giving more activities for
language practice

(2) providing extra notes and
coaching

(3) allowing them to comple,té

assignments without time limits

(4) initially - adapting school
curricula and teaching
strategies °

Enriching the curriculum for

learners who are gifted and talented

(1) give them leadership.roles in
class activities

(2) increase . ,compféxi.ty of
curriculum = for them to
experience a wider variety of
language and opportunities for
creativity o

(3) promote them to a higher class
so rthat they are exposed to
a more difficult syllabus

(4) introduce a foreign language

[ PT.O.



141. Identify the false assumption.

Language course-books prescribed
for students should provide

(1) detailed lesson-plans for
teachers

(2) suggested sequence of teaching
procedures

(3) balanced presentation of
information

(4) organized wunits of learning
experiences

142. Students who do not have the
opportunities to wuse the target
language outside the classroom,
demonstrate much lower levels of
language competency. This can be
overcome by .

(1) conducting tests periodically to

motivate them to learn

(2) giving them a set of commonly
used sentences and vocabulary

which they are expected to use

setting separate tasks which
are easier, with more time to
cornplete them

engaging them in specific
language-focused tasks which
are indirectly monitored by their
group leaders ..

(3)

(4)

143. A foreign/non-mother tongue
language teacher often faces the
problem of a class full of reluctant,
unmotivated learners. This can be
helped by

(1) using methods and strategies
to motivate and make learning
more challenging in the class

taking the help of an academic
counsellor who will address the
class

identifying the students who
are ‘unmotivated’ and taking
a special class for them

encouraging learners to take
their own time to complete
assignments ' ’

(2)

(3)
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144. Language learners learn to do by
doing. Which activity supports this
observation?

(1) Opportunities to practice as it
helps with habit formation
Encourage the wuse of their
mother tongue to promote
better understanding of the
meaning of a prescribed text

(2)

Go from concrete to abstract

texts

The teacher models
writing and speaking
which learners copy

(3)

the
styles

(4)

Directions : Read the given passage and
answer the questions (Q. Nos. 145 to 150}
that follow by selecting the most appropriate
option.

Our consumption of palm oil is rocketing :
Commitments from various governments to
increase the amount of biofuels being sold
are pushing this rise in demand, because
they’re seen as an attractive quick fix to
reduce greenhouse gas emissions. India
wanted 20 percent of its diesel to be bio-
diesel by 2012. The irony is that these
attempts to reduce the impact of climate
change could actually make things worse—
clearing forests and draining and burning
‘peatlands’ to grow palm oil which releases
more carbon emissions than burning fossil
fuels. But this phenomenal growth of the
palm oil industry spells disaster for local
communities, biodiversity, climate
change as palm plantations encroach
further and further into forested areas

and

where the emission of greenhouse gases is
largely due to deforestation. For example,
much of the current and predicted oil
palm expansion is taking place on forested .



‘peatlands’. Peat locks up huge amounts of
. -y
carbon, so clearing ‘peatlands’ by draining
and burmng 1eleases huge greenhouse
gases. The Roundtable on Sustalnable
Palm Oil (RSPO) had established :clear
ethical
producing palm oil.

and ecological standards for

But since then, forest destruction has
continued unabated. “

145. The passage is about the impact of
-——— on the environment.

(1) destruction of peatlands
(2) palm oil industries
(3) drilling for diesel fuel

(4) loss of communities

146. Peatlands are natural

(1) means to carbon

emissions

suppress

(2) causes of environmental

destruction
(3) sources of biofuels when burnt

(4) sources of diesel

147. The phrase in the passage which

means ‘speedy remedy’ is
(1) phenomenal growth
(2) quick fix

(3) current and predicted

(4) draining and burning

148. The synonym of the word ‘irony’ is

(1) rfespect “*™
(2) reality :
(3) praise

(4) paradox

— . -
i >

_r_ t PR

149. ' The RSPO ‘was' convened to -

* iE .

R v t'&' = »
(1) control destructive practices in
palm oil production’

(2) control the burning of peatlands
(3) rehabilitate local communities

i
(4) force the clos@re :of, palm oil
industries

150. The passage suggests that RSPO’s

efforts to carry out its responsibility
has been ‘5 T

| ¢ - fompse
(1) mostly sucgessfyﬁsﬁp

(2) mostly a failire ™ F ¥
T W:
(3):* No informationdirizthe passage
» . -

(4) partly successful-

[ P.T.O.
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1.

4.

6.

10.

11.

12.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

Out of the four alternatives for each
question, only one circle for the correct
answer is to be darkened completely with
Blue/Black Ballpoint Pen on Side-2 of the
OMR Answer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the
Answer Sheet is not folded. Do not make any
stray marks on the Answer Sheet. Do not
write your Roll No. anywhere else except in
the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet
with care, as under no circumstances (except
for discrepancy in Test Booklet Code or
Number and Answer Sheet Code or Number),
another set will be provided.

The candidates will write the correct Test
Booklet Code and Number as given in the
Test Booklet/Answer Sheet in the
Attendance Sheet.

Candidates are .not allowed to carry any
textual material, printed or written, bits of
papers, pager, mobile phone, electronic
device or any other material except the Admit
Card inside the Examination Hall/Room.
Each candidate must show ‘on demand
his/her Admit Card to the Invigilator..

No candidate, without special permission of
the Superintendent or Invigilator, should
leave his/her seat. ,
The candidates should not Jleave - the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet, a second time will be
deemed not to have handed over the Answer
Sheet and dealt with as an unfair means

- case. The candidates are also reguired to

put their left-hand THUMB impression in
the space provided in the Attendance
Sheet. .

Use of Flectronic/Manual Calculator is
prohibited.

The candidates are governed: by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules
and Regulations of the Board.

No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.
On completion of the test, ‘the candidate
must hand over the Answer Sheet to the
Invigilator in the Room/Hall. The
candidates are allowed to take away this
Test Booklet with them.
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